Technical Description

Swivel tool changer STC350

M0629-1 -

Tool changers | Swivels | Swivel tool changers | Grippers | Hose packages | Valve units | Tool systems

/5~ products






The information in this document is subject to change without prior notice and should not be
regarded as an undertaking from Robot System Products AB. Robot System Products AB
assumes no responsibility for errors that may occur in this document.

Robot System Products AB bears no responsibility for damage that is incurred by the use of this
document, or the software or hardware described in this document.

The document, or parts of it, may not be reproduced or copied without prior permission from
Robot System Products AB. It may neither be imparted to a third party, nor otherwise be used
without authorization. Infringement hereof will be subject to action in accordance with the
applicable laws.

Further copies of this document can be obtained from Robot System Products AB at
current prices.

© Robot System Products AB

Robot Systems Products AB
Isolatorvagen 4

SE-721 37 Vasteras
Sweden

MO0629-1 version 3.1 3



CONTENTS

L1 INTRODUCGTION ...t e e e e e e e e e et e e e e et e e e e eaa e e e eeaaneeeeennn 5
1.1 RSP SWIVEI tOO] ChaNQET ... ..t e e e rer e e e e e e e eaes 6
1.2 DOCUIMENTS ...ttt ettt e e e ettt e e e e e e e bbbt e et e e e e e s s s anb b b e e e e e e e e e easnnbbbeeeeaaeeeaanne 6
R T oI 1 PO PP PP PP PP PPPPPPRPPRTN 6
1.4 Complementary EQUIPMENT .......oouiiiiiiiiie et 6

2 TECHNICAL SPECIFICATIONS ..o e 7
2.1 Description of swivel tool changers and tool attachments ............cccoccvveeiii s 7

2.1.1 Coordinate System Definition ........c..ueviiiiiiiiiiiie e 8
2.1.2 Swivel tool changer STC350-6. Article N0: POBOS5..........coeeiiiiiiiiiiieee e e 9
2.1.3 Tool attachment, TA350-8 Round. Article N0: POBO6 ...........ccuuveeeieiiiiiiiiieie e 10
2.1.4 Tool attachment, TA350-8 square. Article NO: POBO02...........ccuuvieeieeiiiiiiiiie e 11
2.1.5 Swivel tool changer STC350-6E. Article N0: POBOT .......ccoocvviiiiiiiiieiiiiee e 12
2.1.6 Swivel tool changer STC350-6E Sealed. Article N0: POB95A.........coooieiiiiiieeiiieee e 13
2.1.7 Tool attachment round, TA350-8E. Article N0: POBO08 ............ccoeeeiieiiiiiieiiiciieeeeeeeeeevevinnn 14
2.1.8 Tool attachment square, TA350-8E. Article N0: POB04 ...........coevvveeiiiiiiiiiie e eesiiieee e 15
2.1.9 PNEUMALIC QIBOIAIM ....eiiiiiiiieiiiiie ettt ettt ettt e e sttt e e sabe e e e s sbbe e e e snbeeeesbbeeessnbeeeeans 16
2.1.10 Circuit diagram E0167-006 for PO607 and POBO5A ..........cccvvieeeeeiiiiiiieeee e s esieeee e e e 17
2.1.11 Circuit diagram E0166-003 fOr POB08 ..........ccoeeiiiiiiiiiiieeeeeiiiiiieeeeesssinrree e e e s e snninnneeaeeeaans 18
2.1.12 Circuit diagram E0Q166-005 fOr POB04 ..........coveeiiiiiiiiieeeeesccirieee e e s ssiiiee e e e e s e ssnnrneneeaeaeaans 19
2.2 Options for SWivel t00l CNANGET..........ccoi i 20
2.2.1 RODOt @d@PLAtiON Kil .......c.viiiiiiiiieiiii ettt e et e e sb e e s snnee e 20
WA o o I o U= o1 )oY (o o SRR OPUURRR 20
2.2.3 Tool stand kit. ArtiCle NO: POB39 ........ooiiiiiiiiiiie e e e e e e snreeee e e e e enans 21
2.2.4 Limitation of RODOt MOVEMENTS .......eiiiiiiiieiiiiee ettt st e sebeee e 21

B S P A RE PA R T S et aaaaas 22

3.1 Part list for swivel tool changer, PO605, PO607 and POB95A...........ccccceveeeeviiiiieieeen. 22

4 MO0629-1 version 3.1



1 INTRODUCTION

Robot System Products is a front-rank provider of peripheral products for high performance
robot applications. We provide complete system solutions for your robot installations, aiming to
improve your productivity with the most reliable and cost-effective tooling on the market.
Continuously we explore emerging technologies, working with leading edge design.

Robot System Products has a wide range of standard robot peripheral products:

Tool changers
Swivels

Swivel tool changers
CiRo

Grippers

Hose Packages
Valve units

Tool systems

Tool parking systems

Robot System Products’ tool changers are constructed to maximize the flexibility and reliability
of your robot fleet. Through our patented locking device TrueConnect™ robustness and high
safety are combined with low weight and compactness. With our swivels compressed air, water,
electrical and data signals as well as weld and servo power are transferred to your tools with
robot motion capabilities fully maintained. Our swivel tool changers unite the TrueConnect™
mechanism with our swivel technology, combining the best out of the two technologies. With
RSP’s cost-effective CiRo, cables and hoses can be freely selected with high robot flexibility
maintained, and space requirements reduced. Our integrated tool systems are delivered as
complete plug-and-play solutions designed for quick and simple installation.

Robot System Products’ product lines are available for all major robot brands and come with
complete documentation. 3D-models for simulation are available for download at:
WWW.ISp.eu.com.

MO0629-1 version 3.1 5


http://www.rsp.eu.com/

1.1 RSP swivel tool changer

The Robot System Products’ swivel tool changer integrates the advantages of swivels and tool
changers into one single product maximizing the flexibility and productivity of the robot.

Our tool changer technology enables robots to handle and switch between multiple tools. The
principle behind the patented locking device TrueConnect™ is that load is distributed uniformly
through pressing locking balls into spherical grooves in the tool attachment. With TrueConnect™
the play is a minimum and the position repeatability is practically absolute through the lifespan.
In consequence substantially larger positional deviations are accepted when docking, A built-in
spring ensures that the tool remains in place in the swivel tool changer even if the air pressure
drops.

When using a swivel tool changer compressed air and electric signals will be directly available at
the tool without loose, hanging cables and hoses which has to be considered during
programming. The combination of RSP’s hose packages with the swivel tool changer does in
addition significantly reduce the design and installation times for the system integrator.

1.2 Documents

This Technical Description contains product information and data, drawings, circuit and
pneumatic diagrams and lists of spare parts. In the document Installation and Maintenance
(M0412-1) procedures for mounting, installation and replacement of equipment are described
together with descriptions of inspection, cleaning and lubrication activities including
recommended maintenance intervals.

1.3 Wear parts

Wear parts should be replaced before considerable damage occurs. The interval depends on the
number of tool changes and its working environment. Generally, the more contaminated
environment, the closer maintenance intervals.

The following parts are considered as wear parts:

o Signal pins
o Airsealings
o O-rings

1.4 Complementary Equipment

Complementary equipment is described in separate documents.

Article Note

External valve units Mounted at the rear of the upper arm. Shuts off the air
automatically during tool changing.

Cable and Hose Package Complete packages for most robots on the market ready to be
mounted without any modifications.

Tool parking systems RSP tool parking systems give rigid installations for easy tool
changing.

Connection kits Connection Kits for tool changers and tool attachments
simplifying electrical installations.

3D-models Available in Solid Works® and STEP-format.

6 MO0629-1 version 3.1



2 TECHNICAL SPECIFICATIONS

2.1 Description of swivel tool changers and tool attachments

This document presents the Robot System Products STC350-6 and STC350-6E swivel tool
changers including tool attachments dedicated for material handling. Likewise presented are
adaptation kits, connection kits to facilitate electrical installation and a tool stand Kkit.

The swivel tool changer STC350-6 transfers compressed air to the tool. It can be equipped with
transfer of electrical signals, via spring loaded signal pins, to the tool attachment. The electrical
versions are designated 'E’. The swivel tool changer STC350-6 and STC350-6E cannot
transport fluids.

The spring-loaded signal pins of STC350-6E are placed and protected along a circle close to the
centre of the swivel tool changer. The signal pins are not in connection until at the very end of
the docking cycle when the tool attachment is already properly aligned. This guarantees a
minimum of wear of pins and contact surfaces. A built-in inductive sensor can be used for
checking that the tool changer is in open position. Locking of tool changer and presence of tool
attachment can be checked through a built-in signal jumper.

The electrical unit can be used for identification and checking the presence of tools by using
signal jumpers and binary coding of signals on the tool attachment.

For other bolt circles adaptation plates between the swivel tool changer and the turning disc on
the robot may be needed. Such adaptation plates are available from RSP.

STC350-6E

MO0629-1 version 3.1 7



2.1.1 Coordinate System Definition
A swivel tool changer adds load to the robot. If the arm and tool loads are not stated correctly
during programming the behaviour of the robot and the wear of the equipment will be affected.

Information about weight and centre of gravity can, in accordance with the co-ordinate system
stated below, be found in the technical specification tables of the swivel tool changers.

R +Y

N

® NOTE! For the tool changer and tool changer with tool attachment, the origo of
I the co-ordinate system is situated in the centre of the robot mounting flange.

8 MO0629-1 version 3.1



2.1.2 Swivel tool changer STC350-6. Article no: PO605

©
©

® o
© I
© I
o @eee -
©OOE¢- |
O © q
\,

0

1 50Yd
fa |
[ Cg
L]
o

Swivel tool changer STC350-6 transfers 6 pneumatic channels to the tool attachment and has
separate inlets for Open TC and Close TC. To be used together with tool attachments P0O606

and P0602.

Technical data

Working temperature

+10°C-+50°C

Bolt pattern

ISO 9409-1-160-11-M12

Maximum tool load Fz (static)
Mx/My (dynamic)
Mz (dynamic)

+ 3500 N
+ 3500 Nm
+ 3500 Nm

Weight and centre of gravity (2)
P0605

P0605 with PO606

P0605 with P0602

22.8kg /94 mm
28.0kg /111 mm
28.4kg /112 mm

Rotational torque

170 Nm

Air channels Pneumatic diagram
User channels, robot side

Dedicated channels, G 1/4"

Air quality

See section 2.1.9

6 x G 1/4" (800 I/min, max 10 bar)

Open TC marked 8, Close TC marked 7 (6-10
bar)

Oil-clean and waterless filtered air, with max
25um particle content

MO0629-1 version 3.1




2.1.3 Tool attachment, TA350-8 Round. Article no: PO606

3012y

H7
?100
LA

518(11X)

-

(S

N

MI12(11X)

Tool attachment TA350-8 transfers 8 pneumatic channels to the tool. To be used together with
swivel tool changer PO605.

Technical data

Working temperature +10°C-+50°C
Bolt pattern 1ISO9409-1-160-11-M12
Weight 5.2 kg
Maximum tool load Fz (static) +3 500 N
(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm
Maximum tool load Fz (static) +3 500 N
(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm
Air channels Connection, tool side 8xG1/4”
@) NOTE!
I Tools can be mounted to the tool attachment using 11 M12-screws, alternatively
the tool attachment can be mounted to the tool using 11 M10-screws.

10 MO0629-1 version 3.1



2.1.4 Tool attachment, TA350-8 square. Article no: P0602

248(2X)
220(2X)

518(11

!
|

Tool attachment TA350-8 transfers 8 pneumatic channels to the tool. To be used together with

swivel tool changer PO605.

Technical data

Working temperature

+10°C-+50°C

1ISO9409-1-160-11-M12

Bolt pattern
Weight 5.7 kg
Maximum tool load Fz (static) +3 500 N
(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm
Maximum tool load Fz (static) +3 500 N
(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm
Air channels Connection, tool side 8xG1/4”
&) NOTE!

I Tools can be mounted to the tool attachment using 11 M12-screws, alternatively the
tool attachment can be mounted to the tool using 11 M10-screws.

MO0629-1 version 3.1

11



2.1.5 Swivel tool changer STC350-6E. Article no: P0O607

3 ©) <© .i !
(] [ & = 2 o
O ©©O©Q"°
@OOC . | |
e : |
O F 1® O|F—; o i
@ ﬁmmal

| O0¥d
T

Swivel tool changer STC350-6E transfers 6 pneumatic channels and 13 electrical signals to the
tool attachment and has separate inlets for Open TC and Close TC. To be used together with
tool attachments PO608 and P0604.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1-160-11-M12
Maximum tool load Fz (static) + 3500 N
Mx/My (dynamic) + 3500 Nm
Mz (dynamic) + 3500 Nm
Weight and centre of gravity (2)
P0607 23.0kg /93 mm
P0607 and P0608 28.5kg /110 mm
P0607 and P0604 29.2kg/ 113 mm
Rotational torque 170 Nm
Air channels Pneumatic diagram See section 2.1.9
User channels, robot side 6 x G 1/4" (800 I/min, max 10 bar)
Dedicated channels, G 1/4" Open TC marked 8, Close TC marked 7 (6-10
bar)
Air quality Oil-clean and waterless filtered air, with max
25um particle content
Electrical signals Circuit diagram E0167-006 (see section 2.1.10)
Total signals 13 x (2A, 60V) + PE
Dedicated signals 24V, 0V, TC Coupled, TC Uncoupled
Connection, robot side Souriau 23P (UT001823PH)
Connection kits P8002 (connector) Souriau 23S (straight)
(optional) P8002-1 (connector) Souriau 23S (angled)
P8129-50 (cable kit) Souriau 23S, 5-meter cable, open end

12 MO0629-1 version 3.1



2.1.6 Swivel tool changer STC350-6E Sealed. Article no: PO695A

.-
- N |
| ‘ 1
| H
Q7 |
O ® o &» N O
o |eeee -’
S ©eOQ. |
o P o of| I '
s[RI

Swivel tool changer STC350-6E transfers 6 pneumatic channels and 13 electrical signals to the
tool attachment and has separate inlets for Open TC and Close TC. To be used together with

tool attachments P0608 and P0604.

Technical data

Working temperature

+10°C-+50°C

Bolt pattern

ISO 9409-1-160-11-M12

Maximum tool load Fz (static) + 3500 N

Mx/My (dynamic) + 3500 Nm

Mz (dynamic) + 3500 Nm
Weight and centre of gravity (2)
PO695A 24.6 kg / 104 mm

P0695 and P0608
PO695A and P0604

29.8 kg /121 mm
30.7 kg / 124 mm

Rotational torque

170 Nm

Air channels Pneumatic diagram
User channels, robot side

Dedicated channels, G 1/4"

See section 2.1.9
6 x G 1/4" (800 I/min, max 10 bar)

Open TC marked 8, Close TC marked 7 (6-10
bar)

Air quality Oil-clean and waterless filtered air, with max
25um particle content
Electrical signals Circuit diagram E0167-006 (see section 2.1.10)
Total signals 13 x (2A, 60V) + PE

Dedicated signals
Connection, robot side

24V, 0V, TC Coupled, TC Uncoupled
Souriau 23P (UT001823PH)

Connection kits P8002 (connector)
(optional) P8002-1 (connector)
P8129-50 (cable kit)

Souriau 23S (straight)
Souriau 23S (angled)
Souriau 23S, 5-meter cable, open end

MO0629-1 version 3.1

13



2.1.7 Tool attachment round, TA350-8E. Article no: PO608

H7
@12

H7

D100

83

MI12(11X
18(11X)

Tool attachment TA350-8E round transfers 8 pneumatic channels and 13 electrical signals to the
tool. To be used together with tool changers P0607 and PO695A.

Technical data

Working temperature +10°C-+50°C
Bolt pattern 1ISO9409-1-160-11-M12
Weight 5.5 kg
Maximum tool load Fz (static) +3 500 N
(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm
Maximum tool load Fz (static) +3 500 N
(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm
Air channels Connection, tool side 8xG1/4
Electrical signals Circuit diagram E0166-003 (see section 2.1.11)
Total signals 13+ PE
Dedicated signals 24V, 0V, TC Coupled
Connection, tool side Souriau 19S (UT001619SH)
&) NOTE!
I Tools can be mounted to the tool attachment using 11 M12-screws, alternatively
the tool attachment can be mounted to the tool using 11 M10-screws.

14 MO0629-1 version 3.1



2.1.8 Tool attachment square, TA350-8E. Article no: P0O604

137.5

@200 =

248(2X)
220(2X)

- i

v

12,5 195(2X)

51,5 .
2
Il
%,
5l
€
o
N
U
< X
& 1
| ﬁ —
| 105
J
D18(4X

Tool attachment TA350-8E square transfers 8 pneumatic channels and 13 electrical signals to
the tool. To be used together with swivel tool changers PO607 and PO695A.

Technical data

Working temperature

+10°C—+50°C

1ISO9409-1-160-11-M12

Bolt pattern
Weight 6.1 kg
Maximum tool load Fz (static) +3 500 N
(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm
Maximum tool load Fz (static) +3 500 N
(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm
Air channels Connection, tool side 8xG1/4”
Electrical signals Circuit diagram E0166-005 (see section 2.1.12)
Total signals 13 + PE

Dedicated signals
Connection, tool side

24V, 0V, TC Coupled
1.0 m cable (20x0.5mm?) with free end

NOTE!

e

Tools can be mounted to the tool attachment using 11 M12-screws, alternatively
the tool attachment can be mounted to the tool using 11 M10-screws.

MO0629-1 version 3.1

15



2.1.9 Pneumatic diagram

Connection
Allowed air pressure

1 (air-1 to 10 bar)
2 (air-1to 10 bar)
3 (air-1 to 10 bar)
4 (air-1to 10 bar)
5 (air-1to 10 bar)
| A 6 (air-1 to 10 bar)
7 Close ATC (air 6 to 10 bar)
8 Open ATC (air 6 to 10 bar)

Swivel /ATC / \\

6 (air-1 to 10 bar)

5 (air-1 to 10 bar)
Tool attachment/ 4 (air-1to 10 bar)
3 (air-1to 10 bar)
2 (air-1 to 10 bar)
1 (air-1 to 10 bar)

16 MO0629-1 version 3.1



2.1.10 Circuit diagram E0167-006 for PO607 and PO695A

o [ v | 3 | 2 [ i
APOV FO m @OO N@ —‘ow mu< sS30npouJd \ Q3A0HddY aiva NOLLAINOS3a A3¥ | 3noz Eeammm.oo—ooxxn
(saBed jo 'ON) abed| Aoy (sweueyy) ou wewnooq 1BWIO4 ar 81-Z4-$00Z 8SD 9888|810} ZZX PAAOW a T =
p A \ W 12215002 aweybumeia MN | O E-.fug..uwon.me_oiuo 3
s . 90-60-800Z Jonoe G20-vi203
N e, a HO Aq percsddy _.M = ey 0 g weibeip ynau 0} 2
w HH £2-90-800Z peibAg 9 yoo | X uondeuuo) 3
19BUBYD |00 UM [SAMS 0€0%00e
a rw Aq paubiseq —
€00-99103
wesberp ynaud o 2
3 : HJEZ8L00LN NVI¥NOS | 3
e
7= €280
X . = 2280
| (12s0) @37dNOONNOL ||
(0zs2) @31dNO2 0L
61s0 @™ : . A==l 8189
810 o ] n=| 8IS
1180 [ ; ) = 1180
i 9lsO I . — | \u_ol_ : <= 9180 .
(51SO) HINVI o1 [ 1] f [ f 71 ™o | ™| (51S0) H1¥v3
(Jriso A= T X ’ : S ] ™| (JyLSO
(Jerso A e [ [ 2 | A | (.)eLSO
(Jerso A T 5] T T T 7 7™ (.)21S0
(Jiso B L S s - Ol [ | (.)11SD
B (:Jorso T 9 I A T z or 1 | (.)oLs2 B
()6 0 o 7 s o[z [ _ — 5 ™= ()6 SO
u R b | :
g T i
e R z _ :
St “=
Zwuigz'0 v gans
- 880 5 : ™ -
180 u_u. _ _ - s=| 180
950 e _ : _ J=| 950
§SO ' D [ | b S =| 9
S0 I T I [ i . Y| a ¥SO
(€S2) A0 dO i D t T T T 5= (£€S2) A0 4O
g (02s2) @31dNO2 oL T T [ 1 1 v _ t
(2s0) Ave+ 0O | 2 R T t 7 z _ g™ | (280) Avz+ 4o
9 9
IS0 fe . A | | 1S
3 7.5 F 4 3 v
Iexc Co _, ] _l . S $5/45Y|
1 Twwe'o - 1
YIONVHO T00L = 0L . LINN ONI¥AINS :
STVNOIS ¥IWOLSND = SO AN3WHOVLLY TOOL OL ¥OLO3INNOD 318V WHV ¥3ddN OL YOLO3INNOD
mm\son_mwzokm:oua“nw S
STVYNDIS-SNE ¥O4 A3AOHAV (. (MINVHD 100L HLM TBAMS) £¥
v v
¥10-2910V ‘BUmeIq A|quiassy £090d
8 | L [ 9 | S | v | 3 | 2 I i

17

MO0629-1 version 3.1



2.1.11 Circuit diagram E0166-003 for P0O608

(10) 10| 3

€00-99104

S319NpoJd

| v | £ |
\ A3A0¥ddY 3iva NOLLdI¥OS3a

3NOZ

A3y
(soBed jo -on) sbeg| ney e \ " 1S A $00C 801 Q Woj AbZ+ dO POAOW a
‘pueHie
PR 5.4 Kz ot W [si-ii-so0z sweySumeip MoN | O
Sen ” MHO W 0€-11-500Z (0z"€1.50) peppe eubis Jawaisny | @
UOREDIUNWIWOD SNE / IIslesed uonduoseq q peacuddy
L Yd SZ-01-2102 pappe Jno Aej uid 3
juswiyoeye |00 Sl-11-G002 i
uonduaseg rw Aq peubisag
SUOR08UU0D JoWolsny)
wesbeip ynosn 0} papRauLoD
010-0¥203 T
wesBerp JNasY 0 PABULOD _| NYRINOS |_
$OHS619100LN 103 ;
3 lod 61
ShS9 A _ 0T o M
EL T 81 D
4189 L 8l L i
. 9+s9 =] yas [
SLSO H1¥V3 3 Kb —d
() ¥180 T = o
() erso N 31 ot
|| () z180 O =T —a7G
() L1sD b m =T _ =T
()orso Py 0 i
(.) 680 by ; o1 _ o n_
2 . 3 >
— _ JUSWYOBYE |00} JO MBIA
8S0 4 : = — ¢
|| 180 >5 1 g [ ®
950 > - yal
$S0 >g _ 3 3 M
89 a1 g s
(€s0) 0a A0 4O b 7 3G
« (022) 31dN0OD OL J m = _ =
(2s0) 04 Ave+ dO Dg— z —=d
180 >
19buey) 100) =91 v 1 3
Jamod Jawoisn) = 40 ] Zwwg'o -
- |eubig Jawoisn) = S0 S0/ d0 v¥ [SEK

sfeubis-sng 4o} peciddy = (,)

(200-9910v) 8090d :Buimeiq Ajquassy

(S0S—00100XHE) 8090d

1
100-99103

1010 0} POIBULOY

900-29103

weibeip unau) 0) peysuun)

3025-00L0OXHE

wesbeip ynuID 0) PerBuL0Y.

€00-29103

weibeip 21D 0} pepsuuo)

S1POUg WISAS 3000y WRGR} ARIAS S
Ao s5audcs O 33000 PAY 0} SNSOPSP O 23N Uop dnposday

WS PAUDILOD UORTMIO S HY U PUD LAO0P S W S3UB 3AUsaU Ip

MO0629-1 version 3.1

18



2.1.12 Circuit diagram E0166-005 for P0604

= | | | |
A —.Ov FO D moo @@ Fom m< S30NpoJd \\ QIAOUdAY aiva . zo:n_zuwmh ‘A3Y uzM~ eoouwwvom
(sa6ed jo ‘o) abed | Aoy {owsuow) ‘ouwewnoog) _ieuuog ™ 22-10-900Z  [seoeid pebueuo .59, suogoeuLOo pue eweyBumeig moN | 8 ABDERINDI) % 09,9900
LE:EWWEEK l\ m 02-v0-9002 peppe /| pue 959 suonoeuuod | O Eehm_m_..%._w wm,wuvmﬁ_;mo 3
UOREIUNWWIOD SN / IBNEse 4HO Aapanoiddy| UL 61-50-1 102 "9¥E0I Sem e1geD ‘peppe 0z pue 64 suonoeuuop | A we.bep _Bw_mw.mawwmm._o
Jewyoeny aienbs * Jg-0GE JUBSWYIBNY |00 Si-lis00c Ly 14 §
a. rw Aq paubisaq -
uofjoBuUUOoD JBwWoIsnD
weiBerp unasD 0} PARBULOY
. _|||| e e o ||_ u
_ :
€ P 2
£ C NE/3d T : 0z< t
C i/ i m 6T
¢ N&/xo T ! LD
g € A5/ L | | o
|| Emﬁu ; Ne/3k I _ 9l ||
C 3A/HM [ ! St !
C NO/N8 T | v
¢ NO/F __ _ oL
C ne/ay [ : T
3 . Nd7XS I < 2
C ‘| : .
¢ I = _ or
"¢ 8 T | b
. € [¢}] | g ww. —
C na [ [ [>
= Ad I | 9
1ayjabo) pajoeuuod aq sanvan: % " “ s mn.
¢| PINOYS NO pue Ng 3|qed (sl0N #9S) 037dN0OD OL / ) +— “ =< T
310N (10N 098) 00 Avz+ dD C +—+ : 6
- C = — _ °c
Zwwgo - _ _|
W Z28.01 319ed —
¥090d
v v
120-9910V :Buimeiq Ajquiassy
8 | L | 9 | S | v | € | 2 | 1

19

MO0629-1 version 3.1



2.2 Options for swivel tool changer

2.2.1 Robot adaptation kit

A robot adaptation kit is mandatory for mounting of a swivel tool changer to a robot. The
adaptation kits always include rotation stops which are prohibiting the swivel tool changers to
rotate in relation to the robots. Dependent on robot model an adaptation kit may also include an
adaptation plate for other bolt circles. Robot adaptation kits are available from RSP.

I

NOTE! Dependent on robot model and rotation stop, there can be limitations on
the freedom of movement of axis 5. Contact Robot System Products for more
information.

2.2.2 Tool Identification

Jumpers on signals at the tool attachment can be used to give information about which tool
attachment that is docked in the swivel tool changer.

20

MO0629-1 version 3.1



2.2.3 Tool stand kit. Article no: P0639

305 59
40

P0639 P0602 OR P0604

20

220
280
270

205

Horizontal mounted 130
Vertikal mounted 142

pu—

L 220 0.5 |

This tool stand kit, mounted on a stand, gives in combination with square tool attachments
P0602 or PO604 a robust tool stand for easy tool changing.

Technical data

Weight 2.6 kg

Maximum load 350 kg

® o - |

I NOTE! To guarantee reliability and a long service-life for the swivel tool changer,
the tool stand must be stable, both in terms of its design and attachment.

L J NOTE!

I The tool stand must not be spring-loaded!

2.2.4 Limitation of Robot movements

There can be some limitations on the movement of axis 5 for some robot models. Contact Robot
System Products for more information.

MO0629-1 version 3.1 21



3 SPARE PARTS

3.1 Part list for swivel tool changer, P0605, PO607 and PO695A

Iltem | Description Part number Wear part Pcs
1 Locking screw MCG6S 12x160 11
2 Spring loaded signal pin (STC350-6E only) 10042 X 20
3 Air sealings 63550006-462 X 6

4 O-ring 11466 X 1

22

MO0629-1 version 3.1






robot System
"7 7 products




	1 INTRODUCTION
	1.1 RSP swivel tool changer
	1.2 Documents
	1.3 Wear parts
	1.4 Complementary Equipment

	2 Technical Specifications
	2.1 Description of swivel tool changers and tool attachments
	2.1.1 Coordinate System Definition
	2.1.2 Swivel tool changer STC350-6. Article no: P0605
	2.1.3 Tool attachment, TA350-8 Round. Article no: P0606
	2.1.4 Tool attachment, TA350-8 square. Article no: P0602
	2.1.5 Swivel tool changer STC350-6E. Article no: P0607
	2.1.6 Swivel tool changer STC350-6E Sealed. Article no: P0695A
	2.1.7 Tool attachment round, TA350-8E. Article no: P0608
	2.1.8 Tool attachment square, TA350-8E. Article no: P0604
	2.1.9 Pneumatic diagram
	2.1.10 Circuit diagram E0167-006 for P0607 and P0695A
	2.1.11 Circuit diagram E0166-003 for P0608
	2.1.12 Circuit diagram E0166-005 for P0604

	2.2 Options for swivel tool changer
	2.2.1 Robot adaptation kit
	2.2.2 Tool Identification
	2.2.3 Tool stand kit. Article no: P0639
	2.2.4 Limitation of Robot movements


	3 Spare Parts
	3.1 Part list for swivel tool changer, P0605, P0607 and P0695A


